PART I - MULTIPLE CHOICE 

Instructions: Designate the best answer for each of the following questions.  

Use the following data for questions 1 and 2 below:

Quinn Company bought real estate, on which there was an old office building, for $400,000. They paid $40,000 in cash as a down payment and signed a 10% mortgage for the remainder. They immediately had the old building razed at a net cost of $35,000. Attorneys were paid $6,000 in connection with the land purchase and an additional $3,000 in connection with permits and zoning variances necessary for Quinn's new office building. $20,000 was paid for excavation for the basement of the new building. $1,400,000 was paid for construction of the new building, and $75,000 was paid for a parking lot and necessary walkways and driveways.

1. The new office building should be recorded at

a. $1,400,000.

b. $1,423,000.

c. $1,420,000.

d. $1,458,000.

2. Land should be recorded at a cost of

a. $435,000.

b. $441,000.

c. $464,000.

d. $461,000.

3. Kotsch Textile purchased machinery for $60,000 eight years ago. It was expected to have a useful life of ten years, no salvage value, and was depreciated using the straight-line method. At the end of its eighth year of use it was retired from service and given to a junk dealer. The entry to record the retirement includes a

a. debit to loss on disposal for $12,000.

b. credit to depreciation expense for $6,000.

c. debit to machinery for $60,000.

d. credit to accumulated depreciation-machinery for $48,000.

4. Which of the following should not be included in the plant assets (property, plant, and equipment) classification?

a. Land on which warehouse sits

b. Building housing corporate headquarters

c. Parking lot used by visitors

d. All of the above should be include

5. The three primary accounting problems associated with accounts receivable are

a. valuation, disposition, and statement presentation.

b. recognition, valuation, and statement presentation.

c. recognition, valuation, and disposition.

d. revenue recognition, matching, and statement presentation.

6. Allowance for Doubtful Accounts is presented as a(n) 

a. addition to Accounts Receivable on the balance sheet. 

b. operating expense on the income statement.

c. deduction from Sales on the income statement.

d. contra asset on the balance sheet.

7. Which of the following methods and bases of accounting for uncollectible accounts receivable is inconsistent with the proper application of matching?

a. Direct write-off method

b. Aging of receivables allowance method

c. Percentage of receivables basis

d. Percentage of sales basis

8. Salvage (residual) value is deducted in the computation of depreciation expense in all of the following methods with the exception of

a. straight-line.

b. units-of-activity.

c. declining-balance.

d. All of the above include a deduction of salvage value.

9. When recording exchanges of similar assets,

a. losses are recognized immediately.

b. the gain or loss recorded on the old asset is the difference between its cost and its fair market value.

c. gains are treated as increases in the cost of the new asset.

d. none of the above.

10. The cost of a patent should be amortized over

a. 50 years.

b. the shorter of its legal life or its useful life.

c. the longer of its legal life or its useful life.

d. its useful life.

 

 

PART III-MATCHING Instructions: Match the cash expenditures given below with the appropriate accounting treatment. An individual classification may be used more than once, or not at all.

Treatments

A. Record the expenditure as an asset and depreciate it.

B. Record the expenditure as an asset and amortize it.

C. Record the expenditure as an asset and deplete it.

D. Record the expenditure as an asset but do not systematically allocate it to expense.

E. Record the expenditure as an expense in the current period.

F. None of the above is appropriate.

Expenditures

____ 1. Acquired a truck.

____ 2. Purchased a patent from an inventor.

____ 3. Paid for minor repairs to a building.

____ 4. Purchased a producing gold mine.

____ 5. Paid attorney's fees in acquiring land.

 

PART V - DEPRECIATION METHODS 

Schilling Corporation purchased a machine on January 1, 2002, at a total cost of $900,000. The machine has an estimated useful life of 10 years or 1,000,000 units of output and a salvage value of $150,000.

Instructions: Complete the following table by presenting the annual depreciation expense for the years 2002 and 2003, under the indicated depreciation methods. Assume actual activity in terms of units of output was: 2002-60,000 units and 2003-120,000 units.

-------------------------------------------

Annual Depreciation Expense

2002 2003

-------------------------------------------

Straight-Line: $ $

-------------------------------------------

(Supporting Computations)

 

 

-------------------------------------------

Double-Declining-Balance: $ $

-------------------------------------------

(Supporting Computations)

 

-------------------------------------------

Units-of-Activity: $ $

-------------------------------------------

(Supporting Computations)

 

PART VI - PLANT ASSETS: SHORT PROBLEMS 

Instructions: Complete the requirements specified for each of the following independent situations.

A. Logan Company purchased land and an office building on March 1 for a combined cash price of $1,200,000. The land had a cost of $700,000 and the building had a book value of $150,000 on the seller's books. The land and building had fair market values of $780,000 and $420,000, respectively on March 1. Logan made the following entry at acquisition:

Land 700,000 debit

Building 750,000 debit

                        Gain on Purchase 100,000 credit

                         Accumulated Depreciation 150,000 credit

                          Cash 1,200,000 credit

Prepare the correct entry for the acquisition.

 

 

B. Melton Company bought machinery on January 1, 2001 at a cost of $250,000. The machinery had an estimated life of 10 years and salvage value of $25,000. In December 2003, Melton estimates that the machinery will have a life of only 5 more years and a $30,000 salvage value. Melton uses straight-line depreciation. Compute the revised annual depreciation.

 

 

 

C. Foster Company bought equipment on July 1, 2002 at a total cost of $600,000. The equipment has an estimated useful life of 5 years and salvage value of $120,000. Foster uses the double-declining-balance method of depreciation. Compute depreciation for 2002 and 2003.

